
























































9
0
 m

in

S
O

N
A

T
E

 T
V

-U
N

T
E

R
T

E
IL

 S
3

0
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
  

  
 

 1
 /

 1
1

xx
xx

xx
xx

xx
s
e

ri
e

: 
xx

x
..

..
..

..
..

..

..
..

..
..

..
..

..
..

..
.

H
e
rg

e
st

e
llt

 f
u
r:

..
..
..
..
..
..
..
..
..
.

..
..
..
..
..
..
..
..
..
.



Max

10kg

Max

3kg

Max

5kg

Max

5kg

0 10 20 30 40 50

 2 / 11

x1

37

x20 x10

x14

x9

x1 x1

x16

x4

x10x14 x1

x4

x1 x2

x3

x13

x4

x1

1 2 4A 4x163

10

9A9 ø15

22A

38 39 3x20 41

80

24 ø12 31C

92B92A

49 M4x22

A B_(mm) C_(mm) D_(mm) E F

B01 802 500 16 x1 1|1

B02 802 350 16 x1 1|1

B03 306 500 16 x1 1|1

B04 306 500 16 x1 1|1

B05 224 350 16 x1 1|1

B06 224 350 16 x1 1|1

B09 802 500 16 x1 1|1

B30 316 778 3 x1 1|1

BS1 796 334 16 x1 1|1

B60 800 100 16 x1 1|1

BD1 738 353 3 x1 1|1

BT1 728 177 16 x1 1|1

WQ1 350 96 12 x2 1|1

WQ2 350 96 12 x2 1|1

DC
B

F

A

B

Max

x14

22

18

45 6,3x13

26
x1

B09

BS1
BD1

B01
WQ2

B04

BT1

B30

B06

WQ1

B03

B05
B60

B02

18



B09

2

2

2

2

2

2

B02

2

2

2

2

x6

2

2

x4

2

2

 3 / 11



24 ø12 9 ø15

x1

92B

FRONT

1

9

1

9

9

1

1B04

92B

L=350

F
R

O
N

T

92B

F
R

O
N

T

92A

L=350

92A

45

1
x4 x3

9 ø15

x1

92A

1

9

1

1

B03

FRONT

24 ø12 9 ø15

9

9

1

 4 / 11

9
1

9
1

x2

45 6,3x13

1
x4 x3

9 ø15

x2

45 6,3x13

45

45

45



B05

9

9

1

1

B06

9

9

1

1

1
x2 x2

9 ø15

24 ø12 9 ø15

1
x2 x2

9 ø15

24 ø12 9 ø15

 5 / 11

9
1

9
1



37

39
39

39

39
39

39
39

BD1

BS1

x7

39 3x20

x1

37
x2

4A 4x16

37

4A37 4A

1. 2.

39

90°

1

 6 / 11

1.

3.

2.



x4

9A

9

9AB05

B02

B06

x6

4A 4x16

x3

31C

B60

31C

31C

31C

 7 / 11

31C

4A

31C

4A1

2



B09

22

22

22

22

x6 x6

22A22

x4

22

22

26

B03
22

B04

B01

22

22

22

22

22

22

26

22

22A

 8 / 11



B30

x6

9A

9

9A

 9 / 11



10

10

10

10

38

38

38
38

38
38

38 38

x8

39 3x20

x8

38

90°

1

39

38

x4

10

x4

4A 4x16

30mm

30mm

4A

10

 10 / 11

1.

2.



x1 x1 x1

4A 4x1641 80
41

41

41

4A

BS1
3

x1

3

x2

49 M4x22

3
49

49
 11 / 11



9
0
 m

in

S
O

N
A

T
E

 T
V

-U
N

T
E

R
T

E
IL

  
  
  
1
0
 J

8
 2

S
 3

1

 1
 /

 1
4

xx
xx

xx
xx

xx
s
e

ri
e

: 
xx

x
..

..
..

..
..

..

..
..

..
..

..
..

..
..

..
.

H
e
rg

e
st

e
llt

 f
u
r:

..
..
..
..
..
..
..
..
..
.

..
..
..
..
..
..
..
..
..
.



0 10 20 30 40 50

 2 / 14

DC
B

F

A

A

x3

35
x2

37

x34 x15

x23

x16

x2 x2

x27

x8x15

x23 x2

x6

x2 x4

x6

x24

x23

x2

1 2 4A 4x163

109A

9 ø15

22 22A

38

39 3x20 41 80

24 ø12

31C

92B92A

49 M4x22

A03

A04

A05

A07
A09

A01

A02

A06

AT1AD1

A30

A30

AS1

AS2

A60

WQ1

WQ2

Max

10kg

Max

5kg

Max

3kg

Max

3kg

Max

A06

Max

50kg

x8

45 6,3x13

26
x1

A B_(mm) C_(mm) D_(mm) E F
A01 1702 500 16 x1 2|2

A02 1702 350 16 x1 2|2
A03 306 500 16 x1 1|2

A04 306 500 16 x1 1|2
A05 306 480 16 x1 1|2
A06 224 350 16 x2 1|2

A07 224 350 16 x1 1|2
A09 1702 500 16 x1 2|2
A30 316 839 3 x2 2|2

A60 1700 100 16 x1 2|2
AD1 796 353 3 x2 1|2
AS1 846 334 16 x1 1|2

AS2 846 334 16 x1 1|2
AT1 786 177 16 x2 1|2

WQ1 350 96 12 x4 1|2
WQ2 350 96 12 x4 1|2



x6

2

A02
2

2

2

2

2

2

2

x9

2

2

2

2

2

2

2

2

2

2

A09

2

 3 / 14



A03

F
R

O
N

T

92A

L=350

92A

1
x4 x3

9 ø15

x1

92A

1

9

1

1
FRONT

24 ø12 9 ø15

9

9

1

A04

24 ø12 9 ø15

x1

92B

FRONT

1

9

1

9

9

1

1

92B

L=350

F
R

O
N

T

92B
 4 / 14

9
1

9
1

x2

45 6,3x13

1
x4 x3

9 ø15

x2

45 6,3x13

45

45

45

45



L=350

F
R

O
N

T
92B

92A

A05
1

1

9

9

9

1

1
FRONT

92B

A05

FRONT

1
x4 x3

9 ø15

x1

92A 92B

x1

F
R

O
N

T
92A

L=350

2

24 ø12 9 ø15

 5 / 14

9
1

x4

45 6,3x13

45

45

45

45



1
x4 x4

9 ø15

1
924 ø12 9 ø15

A06

9
1

9
1x2

9

9

1

1

A07

1
924 ø12 9 ø15

1
x2 x2

9 ø15

 6 / 14



20 282028

AS2 AS1

AS2 2
2

2
2

2
x8

AS12
2

2
2

2

 7 / 14



24

1

24

1

1

1

24

24

22

22

22
22

AT1

WQ1

WQ1

WQ2

WQ2

1

1

1

1

x8

24 ø12

x8

221
x16

2226

24 ø12 9 ø15

x2

AS1

AS2

 8 / 14

9
1



A06A02

A06

A07

37

39
39

39

39
39

39
39

AD1

x14

39 3x20

x2

37
x4

4A 4x16

37

4A37 4A

1. 2.

39

90°

1

x2

x6

9A

9

9A

 9 / 14

1

2

3



A60

31C

31C

31C

31C

31C

31C

x6

22

22

26

x12

4A 4x16

x6

31C

22

22

22

22

22

22

A09

 10 / 14

31C

4A

31C

4A



22

22

22

22

22

22

22

22

22

A03

A04

A01A05

x9 x9

22A22

22

26

22

22A

A30

A30

 11 / 14



x9

9A

9

9A

x17

39 3x20

x14

38

x3

35

38

38

38

38

38 38

38 38

38 38

38 38

38

38

35

35

35

90°

1

39

38
 12 / 14

1.

2.

35

39

3.



10

10

10

10

10

10

x6

10

x6

4A 4x16

50mm

50mm

4A

10

4A

10

X X/2

x2 x2 x2

4A 4x1641 80

41

41

41

4A

 13 / 14



x2

3

x4

49 M4x22

3
49

49

3

3

 14 / 14



30 min

SONATE WANDBOARD 10 J8 2S 40

1 / 9

xxxxxxxxxx
............ serie: xxx

...................
Hergestellt fur:
...................
...................

�



N

 2 / 9

N03

N04

N05

N06

N30 N55

N10N60

0 10 20 30 40 50

Max

2kg

Max

2kg

x1

30A
x3

30B
x10 x9

x9

x9 x6

1 2 6 5x11

9A

9 ø15

x1
26

80A
x1x3

72
  x8

36

x3

80

A B_(mm) C_(mm) D_(mm) E F
N03 160 200 16 1 1|1
N04 160 200 16 1 1|1
N05 160 184 16 1 1|1
N06 160 184 16 1 1|1
N10 1500 220 22 1 1|1
N30 1168 155 16 1 1|1
N55 1208 202 4 1 1|1
N60 1200 80 16 1 1|1

x8
4 3.5x30



N06

1

1
N05

1

1

N04

1

2

1

9

N03

2

1

1
9

 3 / 9

9

x4

1
x2

9 ø15

x2

2

2

x4

1
x2

9 ø15

1 9

1 9

9



N10

N10

2

2

2

2

2

2

2

 4 / 9

x7

2

x3
9 ø15

N60

9

9

9
9



 5 / 9

x2
9 ø15

x3
72

x6
6 5x11

1

1

N30
9

9
6

6

72

72

72

x3
9A

N10

N60

9

9A

9



N05

N06

N03

N30

N04 x2
9A

9

9A

x4
9A

9

9A

 6 / 9



 7 / 9

632 mm

N55

36

36

36

36
36

36
36

36

4

  x8
36

4A

36

4
4

4

4

4

4

4

80A
x1

80A

OPTION
N60
8

x8
4 3.5x30



 8 / 9

x3
80

72

550mm

550mm



30B

30B
30A

30B

 9 / 9


	SONATE 10 J8 2S 01 Vitrine _ F
	SONATE 10 J8 2S 11 Hängevitrine _ E
	SONATE 10 J8 2S 30 TV-Unterteil_neu
	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11

	SONATE 10 J8 2S 31 TV-Unterteil
	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 12
	Strona 13
	Strona 14

	SONATE 10 J8 2S 40 Wandbord
	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9


